T have £14.
I am given another £9.
How much do I have now?

A pear costs 15p more than an apple.
An apple costs 12p.

How much does a pear cost?

Rhian spent 24p.
She spent 8p more than Alice.
How much did Alice spend?

Rhys bought three chocolate bars for 15p each.
How much change from 50p did he get?

Investigate ways of using silver coins to pay
50p.




You have three 10p and three 5p coins in a
purse.

You use two of the coins to buy a lolly.
What could the lolly cost?
What if you used three coins?

Bethan has two coins of the same value.
How much might she have altogether?

Iwan has three 20p stamps and two 15p stamps.

What values can he make using one or more of
the stamps?




